[image: C:\Users\kurutzj\Desktop\Resized_20160902_143905.jpg]
[image: C:\Users\kurutzj\Desktop\Resized_20160902_143911.jpg]
[bookmark: _GoBack][image: C:\Users\kurutzj\Desktop\Resized_20160902_144354.jpg]
image1.jpeg
|€tlT op

02 + |ezgy|—
g 2
[e=! = 11=| »p
th
| [e=| — ¢~ 2
v
ke = 7| o iy
¥ lof “se

LE

uoyssaad:
1552.dxa oy oyenteas ‘gp— ¢ SASIIIXT Uy

'%¢ uey) arow ou ‘ap ¢ 15k
1w aq 01 paedxa 9101 uo? e
B = HEIUL Jo e [pnuue ayj, g¢
0E ISBA IR Sty 3Fe s woszad ayj, ‘¢
“ST UPY) a10w ou st A e
2AneIauuou st 4 ge
01 ISBA 1B 812 TE

BONIGEEIET S (5

198 3yy
qLIISAP 0) uoreIou Ajenbaur asn ‘QE—1¢ SISIIINY uf

T/ — 0L SR0zELT g R 0T
06 €€

L <E1E 0008 eg
% &

P85 [LOL

-)sadae| 0] SIEWS woJj svyuni

Y} 13pI0 0} I0JR[ND[ED B asn 0 PU® 6T SISIRXH U]

95x>0 8T
50 92 et
>% 1T 2
£ <% CC s
7— 7% 0T
1 [rASIUL
-papunoqun 10 papunoq st AUl

arpy o Josqns W
aadaa s1aqunu
61 sospaaxd Ul

~auj Aaquinu €21
) £q pawu
[RqaaA ‘T

AY) adygeym NS
P1ays ey, -Appenbaut U

[831 Jo jasqns ay aqLISIP 4

81
c ‘LI
91
51
v
7 1

WA} UIIM}I (< 50 >) UBES L1
-[enbaui ajeridoadde at) dau[d UIY L, "IUT[ JHUINU (B3I
Y} uo sIquInu [ear om) ) 0[d ‘G- SISMIIXT U]

“wayy M)A (< 10 >) [0quiAs 1321100 Ay} 2veld
pue srqumnu o) Newixotdde | pur [T SISDIINY U]

5 DI
6

“uraned Funeadas a1 LA ‘WP
FUNBUIILIAIUOU © SI J1 J] 1IQINU [EUOIEI 3] JO W10}
[PLUIAP AU} PUL 0 I0JE[NI[E B ISTL ‘() [—£ SISIIING U]

"

91
01/ “€9'7— "SLSL D £000£000¢

T HOTIoN00 €1 — -

4 <

© 9990

“SIPQuInU [EuoneL (p) pue
‘SIAqUINU [EuonEl (3) SIaSaur () STaquinu [rimjeu

() 218 SIIQUINT YOIGA JUTULIDIIP ‘=] SISDUIING] uj

soysmbatarg | iLavaD o1





image2.jpeg
e uonpg TOr1S 2 €661 ‘pL
UoHIq £TETIS 7 0661 “£L
Ol 6'065$ 0861 ‘7L

E uoIIg ¢ 76§ 0961 ‘1L
X -« X «npngy

<oy

Teax

€661 0661 DR61 0161 (961

0l
00g
00
ot
006
worn

o0l

(uouniedacy Amsvary,
SN @2mog)  aead ayy 10j 10YIp Jo snpdans oy)
J0 apmuSew oY) pulq JUAUNLIAA0E [RI3Pa) Ay Jo Ar|
-IN0 Y] UIAIZ AIB NOA ISIDIIXA YIBD U “S6a[ Ydnoayy
0961 Wo4y SIBak PoajIa[as 10§ (SIB[OP Jo Suolq
Ul) JUIUIBA0S [€12Pay 3Y) JO 511901 oY) SMOYS YIIYA
‘yydead aeq o asn ‘g / SISILIIXG U] JIaLfacq [naapa .|

£192$ Sigzg aouvnsuy gy
cee'Les  Or9'Les SOXEL 69
TLLGS 00P6S  SONINN Y

9SEELIS  00LTIIS  soFem L9
950°0 |q — v| v ‘asusdvg q ‘osusdiy

ooy paipng

7159) POUBLIEA
Wapnq.. oy sassed asuadxa [Enjow oy PYAYM suIw
-12)9p pue dqe) ayy jo spaed Fuissi ogy ur [[1f “%s
u 10w £q 10 (0§$ e 210w £q sasuadxa pajadpng

) oy sagyp yuswvdop v jo sasuadxa Enjor ay)
p
SUNUNOIIE A ‘)L=L9 SISUIXG U] aounLmy poSpng

2Y1aLA 25 0) Fuppanp st fuedwod v jo juau

LT sIoquNN [BaY | [ NOLIDAS

D UWOLJ SHUN 0M1 150U 2 514 gy
() WOL) $)IIN K15 1889 17 51 £ *gg

&pouad awn jey) duunp [pAv N0 0p JE) MOL gy
1sodapir uag ‘g 1sodajiu ssed nok Buraarn sym po

pouad aumy yery Futnp [pavn NOA Op JBf MOH ‘g
wodapiu uaryy <z ysodapiur ssed noA “Buiparn a[iym gy

0 ISB[ I8 ST ()] — PUE X UM)aq IDURISID 3| *zg

€ UBY) 2I0W OU ST § PUE ¥ UAIMID] IDURISIP U [ “[g

“UORNEMIS 3Y) IYLIISIP
0] HONR)OU INEA NN[OSEE ISN ‘GY—[9 SISIMIIXT] U]

96— =96 =D "09

SL-=4°9T1— =1 85 St =q9g1 =0
T I 0
< i ~ b
Yop
i
9§
0 i - —
« = —
0=9 T
= = & =2
) = t -
Yame B

¢ (Z—)
z| |z 1s
9 lo 08
15 $— ‘6F
[| - | 8y
¢ €= "L¥

Shqunu eaa jo ared ayy waamjaq (=
10 ) [0QUIAS 190103 94) 2ayd





image3.jpeg
12 Ciaprir P | Prerequisites

75, Exploration Consider |u + v] and [u] 4 v
(@) Are the values of the expressions always equal 21f
Jot, under what conditions are they unequal?

b) If the two expressions are not equal for certain
values of u and v, is one of the expressions
always greater than the other? Explain

76. Think About It 1s there u difference between saying
that a real number is positive and saying that a real
plain

number is nonnegative? E:

In Exercises 77-80, identify the terms of the expression.

T+ 4

7942 x5

78.3xt =8y =1l
80. 3rt + 3!

In Exercises 81-86, evaluate the expression for the
values of x. (If not possible, state the reason.)

Expression Values
81. 4x 6 (@ x=-1 by x=0
82.9 - Tx (a) x (b)) x=3
32— 3+ 4 (a) x (b) x =2
84, — x> F5x—4 () 2= () x=1
e @x=1 ® x=-1
=1
6. @x=2 ) x= -2

In Exercises 87-96, identify the rule(s) of algebra illus-
trated by the equation.

8. r+9=94x 83.2(3) = I

s9.hir’<h+61—l, I =6
8. x+3)~-(x+3)=0

9L 2+ 3) =246
2. - +0=2~-2
Bole(l+x=14zx

94 x4+ (v +10) = (x + y) + 10

95. x(3y) = (x * 3)y = (3n)y

9. 571 =(L - M2=1+12=12

ises 97-100. evaluate the expression. (If not
es 97-100,

ate the reason.)

InE
pnqsih]o. st
41 - (90 = 9) 9. 1023 —30+7)
97. 5
g§-—8
9. 94 (6+3)

3-3
100, 15555

1-110, perform the operations. (Write

In Exercises 10 d form.)

fractional answers in reduce:

27 - 35
101 (@ - D=2 102. =,
103. 104. § 7
105. 106. :’1' o thx ] A:,
07, 4. 108. 1L =3
109, 12+ ! 1mo. 3 +3)—(6-3%)

In Exercises 111-114, use a calculator to evaluate the
expression. (Round your answer to two decimal
places.)

Wik 2. 3(=5 +3)

113, ”‘4(;;'—5'31 114. i(“i_‘,,")

115. Usc a caleulator to complete the table.
L] 05 | 001 [ 00001 | 0000001
S/n ‘

116. Think Abour It
L0 make a conject
approaches ().

Use the result of Excrcise 115
ure about the value of S/n as n

117 Use ataais
17. Use a caleulator to complete the table

"‘ L (U T

' n 10,000

100,000

8. Think About 1t

Use th
10 make a conjecy € result of Exercise 117

e ab 2
und.out the value of 5/n as n

ur
1nereases without boy





